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The X2 asks why the miwn didn’t use a case of 019 I'M7OxNI T2 'aX? Nan. In the
previous case it says 121 AN 'N'17 NI’ which means that he owes him the money
directly, not because he borrowed from his father, why did the X712 now change it to a
case where he claims that his father lent him a nan and he repaid half, and not a similar
case to before where he borrowed from him and repaid half?

--019 I'M7OKNI T 7'aN? nan why does the Xna use this expression instead of saying
simply 019 'my19?

--17 says that Qpy' |2 WTY*7X "0 agrees with the concept of NT'ax 2'wn and his case is
where a |0j is the yaIn. If so why can’t we say that ywin' 120 is going with the opinion

of Apy' |2 NTY*7X N, but in our Nlwn there is no yaIn, which is what v explained in
defining "Oxw NoN?

When 2 witnesses testify that they were physically forced to sign a "0w we say that
they are believed. v writes that because they are not D'vw we believed them. Does
that mean that the "0wW becomes invalid?

The Xna says that if DTV testify that they got paid to sign an invalid "0w they are not
believed because ywn mxy D0'wn DX |'N. In explaining this v writes that a person
can’t testify about themselves because they are a 2Ny to themselves. Why than are
they believed when they say niwo1 nnnn 0'01IX? Aren’t they the same mxy 7¥x aNp?

The miwn writes that if they claim that they were n'ainy and therefore n'7109 they are
believed, why isn’t it the same problem of ywn mxy n'wn DX |'K? Isn’t signing on a
relative’s "0w is a n1ay?
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If you have any comments or suggestions, please email me at
Ygrunhaus@gmail.com
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